

SOME ESTIMATIONS FOR POLYNOMIAL COMPLEX ZEROS

M. S. Petković

*Department of Mathematics, Faculty of Electronic
Engineering, P.O. Box 73, 18000 Niš, Yugoslavia*

ABSTRACT

Some inequalities for simple complex zeros of a polynomial, which are localized in disjoint discs in complex plane, are given. Some of these inequalities give the estimate for approximations of zeros, obtained by the known iterative formulas with cubic convergence. The presented results have an origin in convergence analysis for simultaneous interval methods given in [9] and [10].

0. Let $Z = \{c; r\} = \{w \mid |w - c| \leq r\}$ be the disc in the complex plane with center $c \in \mathbb{C}$ and radius $r \geq 0$. For the discs $Z_j = \{c_j; r_j\}$ ($j = 1, 2, \dots, n$) the following properties are valid (see, e.g. [6]):

$$(1) \quad (i) \quad (\text{inclusivity}): Z_1 \supset Z_2 \iff |c_1 - c_2| \leq r_1 - r_2.$$

In particular, if $Z_2 = \{c_2; 0\} = c_2$, then

$$(2) \quad c_2 \in Z_1 \iff |c_1 - c_2| \leq r_1;$$

AMS Mathematics Subject Classification (1980): 65G05.

Key words and phrases: Polynomials complex zeros, estimations.

(ii) (disjunctivity):

$$(3) \quad Z_1 \cap Z_2 = 0 \iff |c_1 - c_2| > r_1 + r_2;$$

(iii) (inclusive monotonicity): If f is a rational function and

$$Z_i \subset W_i \quad (i = 1, 2, \dots, n),$$

then

$$f(Z_1, \dots, Z_n) \subset f(W_1, \dots, W_n).$$

Especially, if $z_i \in Z_i$ ($i = 1, 2, \dots, n$) it follows

$$(4) \quad f(z_1, \dots, z_n) \in f(W_1, \dots, W_n).$$

LEMMA 1. If $r/|c| \leq a < 1$, then

$$(5) \quad \frac{1}{\{c; r\}} \subset \left\{ \frac{1}{c}; \frac{(a+1)r}{|c|^2 - r^2} \right\}.$$

PROOF. Since $|c| > r$, according to (2), it follows that the disc $\{c; r\}$ does not contain the origin. For this, its inverse disc, in the complex plane, exists and is given by

$$(6) \quad \frac{1}{\{c; r\}} = \left\{ \frac{\bar{c}}{|c|^2 - r^2}; \frac{r}{|c|^2 - r^2} \right\}.$$

Starting from the given condition $r/|c| \leq a < 1$, we obtain

$$\frac{r^2}{|c|(|c|^2 - r^2)} \leq \frac{ar}{|c|^2 - r^2}$$

or

$$\left| \frac{1}{c} - \frac{\bar{c}}{|c|^2 - r^2} \right| \leq \frac{ar}{|c|^2 - r^2} = \frac{(a+1)r}{|c|^2 - r^2} - \frac{r}{|c|^2 - r^2}.$$

In reference to (1) and (6), inclusion (5) follows from the last inequality.

1. Consider a polynomial P of degree $n \geq 3$

$$P(z) = \prod_{j=1}^n (z - \xi_j)$$

with simple real or complex zeros ξ_1, \dots, ξ_n . Let $Z_j = \{z_j; r_j\} = \{z \mid |z - z_j| \leq r_j\}$ ($j = 1, \dots, n$) be disjoint discs containing one and only one zero ξ_j , and let

$$r = \max_{1 \leq j \leq n} r_j, \quad \rho = \min_{\substack{i, j \\ i \neq j}} \{|z_i - z_j| - r_j\},$$

$$c_j = \sum_{\substack{k=1 \\ k \neq j}}^n \frac{1}{z_j - z_k}, \quad \eta = \frac{(n-1)r}{\rho^2}, \quad s = \max(2, (n-1)^{1/2}).$$

Introduce the rational function $z \mapsto G(z)$ by

$$G(z) = \frac{d}{dz}(\ln P(z)) = \frac{P'(z)}{P(z)}.$$

It is easy to show that

$$(7) \quad G(z) = \sum_{j=1}^n \frac{1}{z - \xi_j}.$$

THEOREM 1. Let $\xi_j \in Z_j$ ($j = 1, 2, \dots, n$) and $\rho > rs$ holds.

Then

$$(8) \quad |G(z_j) - c_j| > \frac{1}{r} - \eta.$$

PROOF. Since $\xi_j \in Z_j = \{z_j; r_j\}$ implies $|\xi_j - z_j| < r_j$ ($j = 1, \dots, n$), we have

$$|G(z_j) - c_j| = \left| \frac{1}{z_j - \xi_j} + \sum_{\substack{k=1 \\ k \neq j}}^n \frac{1}{z_j - \xi_k} - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{1}{z_j - z_k} \right|$$

$$> \frac{1}{|z_j - \xi_j|} - \sum_{\substack{k=1 \\ k \neq j}}^n \left| \frac{1}{z_j - \xi_k} - \frac{1}{z_j - z_k} \right|.$$

$$> \frac{1}{r} - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{|\xi_k - z_k|}{|z_j - \xi_k| |z_j - z_k|} > \frac{1}{r} - \frac{(n-1)r}{\rho^2} = \frac{1}{r} - \eta.$$

Obviously $\frac{1}{r} - \frac{(n-1)r}{\rho^2} > 0$ and $\rho > 2r$ if $\rho > sr$. Note that the condition $\rho > 2r$ implies

$$\min_{i,j} |c_i - c_j| > \max_{i,j} (r_i + r_j)$$

so that the discs Z_1, \dots, Z_n are disjoint (according to (3)).

THEOREM 2. Let $b > 1$ a real constant and $\beta = b^2(n-1)$. Under condition

$$(9) \quad \rho > b(n-1)r$$

the inequality

$$(10) \quad |\xi_j - z_j^*| < \frac{\beta^2(n-1)r^3}{(\beta-1)(\beta-2)\rho^2} \quad (j = 1, \dots, n)$$

holds, where

$$(11) \quad z_j^* = z_j - \frac{1}{G(z_j) - c_j} \quad (j = 1, \dots, n).$$

PROOF. For $z = z_j$ we obtain, from (7),

$$\xi_j \equiv z_j - \frac{1}{G(z_j) - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{1}{z_j - \xi_k}} \quad (j = 1, \dots, n).$$

Since $\xi_k \in Z_k$ ($k = 1, \dots, n$), by virtue of (4), it follows

$$(12) \quad \xi_j \in z_j - \frac{1}{G(z_j) - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{1}{z_j - Z_k}} \quad (j = 1, \dots, n).$$

Condition (9) implies $\rho > 2r$. Hence, in regard to the conclusion from Theorem 1, the discs Z_1, \dots, Z_n are disjoint so that $z_j \notin Z_k$ ($j \neq k$). For this, the discs $z_j - Z_k$ do not contain the origin so that the inverse discs $(z_j - Z_k)^{-1}$ exist.

The following inclusion is proved in [9]:

$$(13) \quad \sum_{\substack{k=1 \\ k \neq j}}^n \frac{1}{z_j - Z_k} \subset \left\{ \sum_{\substack{k=1 \\ k \neq j}}^n \frac{1}{z_j - z_k}; \frac{(n-1)r}{\rho^2} \right\} = \{c_j; \eta\}.$$

On the basis of (12) and (13), we obtain

$$(14) \quad \xi_j \in z_j - \frac{1}{G(z_j) - \{c_j; \eta\}} = z_j - \frac{1}{\{G(z_j) - c_j; \eta\}} \quad (j = 1, \dots, n).$$

Using (9), in the form $r/\rho < 1/(b(n-1))$ and inequality (8), we find

$$\frac{\eta}{|G(z_j) - c_j|} < \frac{\eta}{\frac{1}{r} - \eta} = \frac{1}{\frac{\rho^2}{r^2} - 1} < \frac{1}{b^2(n-1)-1} = \frac{1}{\beta - 1}.$$

Taking $a = 1/(\beta - 1) < 1$, according to Lemma 1 we can write

$$\frac{1}{\{G(z_j) - c_j; \eta\}} \subset \left\{ \frac{1}{G(z_j) - c_j}; \frac{\frac{\beta}{\beta-1} \eta}{|G(z_j) - c_j|^2 - \eta^2} \right\}.$$

Now, relation (14) becomes

$$\begin{aligned} \xi_j \in & \left\{ z_j - \frac{1}{G(z_j) - c_j}; \frac{\frac{\beta}{\beta-1} \eta}{|G(z_j) - c_j|^2 - \eta^2} \right\} = \\ & = \left\{ z_j^* ; \frac{\frac{\beta}{\beta-1} \eta}{|G(z_j) - c_j|^2 - \eta^2} \right\} \quad (j = 1, \dots, n). \end{aligned}$$

Hence, on the basis of (2), we obtain the corresponding inequality

$$(15) \quad |\xi_j - z_j^*| < \frac{\frac{\beta}{\beta-1}\eta}{|G(z_j) - c_j|^2 - \eta^2} \quad (j = 1, \dots, n).$$

Using the estimate

$$\begin{aligned} |G(z_j) - c_j|^2 - \eta^2 &> \left| \frac{1}{r} - \eta \right|^2 - \eta^2 = \frac{1}{r^2} - \frac{2\eta}{r} \\ &> \frac{1}{r^2} \left[1 - \frac{2}{b^2(n-1)} \right] = \frac{1}{r^2} \frac{\beta-2}{\beta}, \end{aligned}$$

we find

$$\frac{\frac{\beta}{\beta-1}\eta}{|G(z_j) - c_j|^2 - \eta^2} < \frac{\beta^2(n-1)r^3}{(\beta-1)(\beta-2)\rho^2}.$$

According to this, inequality (10) follows from (15).

REMARK 1. Relation (11) defines the iterative formula for the simultaneous determination of polynomial complex zeros (see [1], [2], [3], [4], [5]). Since $r = 0(|\xi_j - z_j|)$, inequality (10) establishes that the convergence order of iterative process (11) is three and, at the same time gives the estimate of the error for new approximations of polynomial zeros. Inequality (9) may be regarded as a condition under which the iterative method (11) converges.

2. Let Q be a polynomial of degree n defined by

$$Q(z) = \prod_{j=1}^n (z - z_j),$$

where z_1, \dots, z_n are the centres of discs Z_1, \dots, Z_n containing the zeros ξ_1, \dots, ξ_n of the polynomial P .

Introduce

$$(16) \quad h_j = \frac{P(z_j)}{Q'(z_j)} = \frac{P(z_j)}{n \prod_{\substack{k=1 \\ k \neq j}}^n (z_j - z_k)} \quad (j = 1, \dots, n),$$

$$H = \max_{1 \leq j \leq n} |h_j|,$$

$$w_j = \sum_{\substack{k=1 \\ k \neq j}}^n \frac{h_k}{z_k - z_j} \quad (j = 1, \dots, n),$$

$$\mu = \frac{(n-1)rH}{\rho^2}.$$

LEMMA 2. Let $b > 1$ be a real constant. Then, under the condition

$$\rho > b(n - 1)r,$$

the inequality

$$(17) \quad H < ar$$

holds, where $a = \exp(1/b)$.

PROOF. The sequence $v(k) = (1 + 1/bk)^k$ ($k \in \mathbb{N}$) is bounded and monotonically increasing so that

$$v(k) < \lim_{k \rightarrow +\infty} v(k) = \exp\left(\frac{1}{b}\right)$$

for each $k \in \mathbb{N}$. By virtue of this, we have

$$|h_j| = \frac{|P(z_j)|}{|Q'(z_j)|} = |z_j - \xi_j| \prod_{\substack{k=1 \\ k \neq j}}^n \frac{|z_j - \xi_k|}{|z_j - z_k|}$$

$$< r_j \prod_{\substack{k=1 \\ k \neq j}}^n \frac{|z_j - z_k| + r_k}{|z_j - z_k|} < r \left(1 + \frac{r}{\rho}\right)^{n-1} < r \left[1 + \frac{1}{b(n-1)}\right]^{n-1}$$

$$< r \exp\left(\frac{1}{b}\right),$$

wherefrom

$$H < ar.$$

Introduce the function $b \mapsto F(b)$ by

$$F(b) = \left(\frac{1}{\exp(1/b)} - \frac{1}{b} \right)^2 - \frac{1}{4b^4} = \left(\frac{1}{a} - \frac{1}{b} \right)^2 - \frac{1}{4b^4}.$$

We can find the unique real zero b_0 of this function as a solution of the equation

$$f(b) \equiv 2b^2 - \exp(1/b)(2b+1) = 0,$$

which follows from $F(b) = 0$. The approximating value of this zero is $b_0 \cong 2.0357236$.

THEOREM 3. *Assume that*

$$(18) \quad \rho > b(n-1)r \quad (b > b_0).$$

Then

$$(19) \quad |1 - w_j| > \mu \quad (j = 1, \dots, n).$$

PROOF. The function $f(b) = 2b^2 - (2b+1)\exp(1/b)$, which vanishes for $b = b_0$, is positive for $b > b_0$ so that

$$(20) \quad 2b^2 > (2b+1)\exp(1/b) = (2b+1)a.$$

Using (17), (18) and (20), we find

$$1 > \frac{a}{b} \left(1 + \frac{1}{2b} \right) > \frac{(n-1)ar}{\rho} \left(1 + \frac{r}{\rho} \right) > \frac{(n-1)H}{\rho} + \frac{(n-1)rH}{\rho^2},$$

that is,

$$1 - \frac{(n-1)H}{\rho} > \frac{(n-1)rH}{\rho^2}.$$

Hence

$$\begin{aligned}
 |1 - w_j| &= \left| 1 - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{h_k}{z_k - z_j} \right| > 1 - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{|h_k|}{|z_k - z_j|} \\
 &> 1 - \frac{(n-1)H}{\rho} > \frac{(n-1)rH}{\rho^2} = \mu.
 \end{aligned}$$

THEOREM 4. Under condition (18), the inequality

$$(21) \quad |\xi_j - z_j^*| < \frac{(a+1)(n-1)r^3}{F(b)\rho^2} \quad (j = 1, \dots, n)$$

is valid, where $a = \alpha/(b(n-1)(b-\alpha)) < 1$ and

$$(22) \quad z_j^* = z_j - \frac{h_j}{1 - w_j} \quad (j = 1, \dots, n).$$

PROOF. We obtain from (16)

$$\xi_j \equiv z_j - \frac{h_j}{1 - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{h_k}{z_k - \xi_j}} \quad (j = 1, \dots, n).$$

Since $\xi_j \in Z_j$ ($j = 1, \dots, n$), in reference to (4) it follows

$$\xi_j \in z_j - \frac{h_j}{1 - \sum_{\substack{k=1 \\ k \neq j}}^n \frac{h_k}{z_k - z_j}} \quad (j = 1, \dots, n).$$

The following inclusion is proved in [10]:

$$\sum_{\substack{k=1 \\ k \neq j}}^n \frac{h_k}{z_k - z_j} \in \left\{ \sum_{\substack{k=1 \\ k \neq j}}^n \frac{h_k}{z_k - z_j}; \frac{(n-1)rH}{\rho^2} \right\} = \{w_j; \mu\}.$$

From the last relation we find

$$(23) \quad \xi_j \in z_j - \frac{h_j}{1 - \{w_j; \mu\}} = z_j - \frac{h_j}{\{1 - w_j; \mu\}} \quad (j = 1, \dots, n).$$

Using the estimates from the proof of Theorem 3, we obtain

$$\frac{\mu}{|1 - w_j|} < \frac{(n-1)rH/\rho^2}{1 - \frac{(n-1)H}{\rho}} < \frac{\alpha}{b(n-1)(b-\alpha)} = a.$$

From (20) the inequality $1 > \alpha/(2b(b-\alpha))$ follows so that

$$a = \frac{\alpha}{b(n-1)(b-\alpha)} < \frac{\alpha}{2b(b-\alpha)} < 1.$$

Therefore, Lemma 1 is applicable, whence

$$(24) \quad \frac{h_j}{\{1-w_j; \mu\}} \subset \left\{ \frac{h_j}{1-w_j}; \frac{(a+1)|h_j|\mu}{|1-w_j|^2 - \mu^2} \right\}.$$

Applying (17), Theorem 3 and the estimates

$$\mu = \frac{(n-1)rH}{\rho^2} < \frac{\alpha(n-1)r^2}{\rho^2} < \frac{\alpha}{b^2(n-1)} < \frac{\alpha}{2b^2},$$

$$|1 - w_j|^2 - \mu^2 > \left[1 - \frac{(n-1)H}{\rho} \right]^2 - \frac{\alpha^2}{4b^4} > \left(1 - \frac{\alpha}{b} \right)^2 - \frac{\alpha^2}{4b^4},$$

we find

$$\begin{aligned} \frac{|h_j|\mu}{|1 - w_j|^2 - \mu^2} &< \frac{\alpha^2(n-1)r^3}{\rho^2 \left[\left(1 - \frac{\alpha}{b} \right)^2 - \frac{\alpha^2}{4b^4} \right]} \\ &< \frac{(n-1)r^3}{\rho^2} \cdot \frac{1}{\left(\frac{1}{\alpha} - \frac{1}{b} \right)^2 - \frac{1}{4b^4}} = \frac{(n-1)r^3}{F(b)\rho^2}. \end{aligned}$$

Now, we obtain from (24)

$$\frac{h_j}{\{1-w_j; \mu\}} \subset \left\{ \frac{h_j}{1-w_j}; \frac{(a+1)(n-1)r^3}{F(b)\rho^2} \right\} \quad (j = 1, \dots, n).$$

This inclusion enables us to write (23) in the form

$$\xi_j \in \left\{ z_j - \frac{h_j}{1-w_j}; \frac{(a+1)(n-1)r^3}{F(b)\rho^2} \right\} = \left\{ z_j; \frac{(a+1)(n-1)r^3}{F(b)\rho^2} \right\} \quad (j = 1, \dots, n),$$

wherefrom, according to (2)

$$|\xi_j - z_j^*| < \frac{(a+1)(n-1)r^3}{F(b)\rho^2} \quad (j = 1, \dots, n).$$

REMARK 2. Relation (22) defines the iterative formula for the simultaneous determination of polynomial complex zeros (see [7], [8]). The convergence order of this method is three, which can be concluded from (21). Inequality (18) may be treated as a condition for the convergence of iterative process (22).

REFERENCES

- [1] Aberth, O., *Iteration methods for finding all zeros of a polynomial simultaneously*, *Math. Computation* 27 (1973), 339 - 344.
- [2] Börsch-Supan, W., *A posteriori error bounds for the zeros of polynomials*, *Numer. Math.* 5 (1963), 380 - 398.
- [3] Dočev, K., Byrnev, P., *Certain modifications of Newton's method for the approximate solution of algebraic equations*, *Ž. Vyčisl. Mat. i Fiz.* 4 (1964), 195 - 920.
- [4] Ehrlich, L.W., *A modified Newton method for polynomials*, *Comm. ACM* 19 (1967), 107 - 108.
- [5] Farmer, M.R., Loizou, G., *A class of iteration functions for improving simultaneously approximations to the zeros of a polynomial*, *BIT* 15 (1975), 250 - 258.
- [6] Moore, R.E., *Methods and applications of interval analysis*, *SIAM Studies in Applied Mathematics*, Philadelphia, 1979.
- [7] Nourein, A.W., *An iteration formula for the simultaneous determination of the zeroes of a polynomial*, *J. Comput. Appl. Math.* 4 (1975), 251 - 254.
- [8] Nourien, A.W., *An improvement on two iteration methods for simultaneous determination of the zeroes of a polynomial*, *Int. J. Comput. Math.* 3 (1977), 241-252.

- [9] Petković, M.S., *On a generalization of the root iterations for polynomial complex zeros in circular interval arithmetic*, *Computing* 27 (1981), 37 - 55.
- [10] Petković, M.S., *On an iterative method for simultaneous inclusion of polynomial complex zeros*, *J. Comput. Appl. Math.* 1 (1982), 51 - 56.

Received by the editors October 9, 1984.

REZIME

NEKE OCENE ZA KOMPLEKSNE NULE POLINOMA

Date su neke nejednakosti za proste kompleksne nule polinoma, koje su u diskovima Z_1, Z_2, \dots, Z_n ($Z_i \cap Z_j = \emptyset, i \neq j$). Neke od ovih nejednakosti daju ocenu za aproksimacije nula, dobijene pomoću poznatih iterativnih formula za kubnu konvergenciju. Izneti rezultati dobijeni su metodom sličnoj onoj u [9] i [10].